Speaker System:

Nominal Impedance:

Nominal Power Handling Capacity:
Music Power Handling Capacity:
Sensitivity:

Maximum Sound Pressure Level:

Effective Frequency Range:

Three-way, bass reflex enclosure

38 cm (15 inches)
cone type

10 cm (4 inches)
balanced-drive type
3.5 cm (1 % inches)
balanced-drive type

Low frequency:

Mid frequency:

High frequency:

80
100 W DIN 45500
200 W DIN 45500

94dB (1W, 1 m)
1.6 W (96 dB, 1 m) DIN 45500

117 dB/m
30 Hz — 20,000 Hz

Note: Take care not to break projections on the baffle board.

Canadian Model
AEP Model
E Model

CARBOCON SPEAKER SYSTEM

SPECIFICATIONS

Crossover Frequencies:

Level Controls:

Terminals:
Volume:

Dimensions:

Weight:

550 Hz (12 dB/oct.)
4,500 Hz (12 dB/oct.)

Tweeter:

from 0 to —4 dB
continuously adjustable

Mid-range: from 0 to —4 dB

Push pots
128 liters
Approx.

Approx.

continuously adjustable

510 (w) x 940 (h) x 445 (d) mm
20 (w) x 37 (h) 17 % (d) inches
with front grille

48 kg, 106 Ib (net)

55 kg, 122 Ib (with shipping carton)

ONY.

SERVICE MANUAL



ssmeeslervicemanums.info

1. DISASSEMBLY

Remove in the numerical order as shown below,

Woofer: 0o—0—0—-0

Mid-range: 0o—6—0—0—0

Tweeter: oO—60—06—0—0

Level control: @ ~—@—@ ®—0—0—0

O front grille

@ screw, M5 x 30
(6 pcs)

When installing the unit board
packing, place the hole marked *
to the woofer side.

@ unit board

unit board packing

Q O screw, M6 x 55 S .Ievel control knobs

[ (8 pcs)
Put a screwdriver in the hole

and pull the woofer up
with the screwdriver.

ornamental
plate

level control
plate

level control
plate packing

speaker box

@ /evel controls

circuit board mounting plate

Note: ® Use the new packing after removing the unit board or level control plate.

® When repairing the circuit board, remove the woofer. 2



www.freeservicemanuals.info

2. MOUNTING DIAGRAM
— Conductor Side —

Note: After replacing parts on the circuit board, fix them
with an adhesive.

LEVEL CONTROL

MID LEVEL

SR
WOOFER

£

14 0.27mH

$5-G7

$S-G7 J

(5
47mH

LEVEL CONTROL

SP2 MID-RANGE

WHT

SP3 TWEETER

TWEETER
LEVEL
|
-2
g 3
) [
BLU

3. SCHEMATIC DIAGRAM

L] L) ' ]
Ll 47mH '
5
@ = a g 4 WHT
"
RED = '} I czl I ®
IN ] C1 33 |83 SP!
3 SOV[F = peay ! WOOFER
S0V &)
BLK T _ 12 1 BLY
e T
' o 1 ik ' LEVEL CONTROL
L&I'm
,_|25|_°v B = ,l_RED g
S
mI —-=
2 3
250V ' ! s |
' )—“_4 | A <
@ = L_3 1
250V 22 2, G
T co
' ! Tz &tl  sjmen
. 53 b 230y Wk G
250V =
1 MID
1 I mo'l_' ' AJRANGE
47 | =
. 230V 7] BLK
e 34 BLK
: LEVEL CONTROL
CIl 22/250v l TWEETEER
LEVEL
1 '“’ T ,__l
1L iy
LLI - |
cl2  1/250v =i
___| n
’ L4
|027mH
L
WEETER
.
L 1] BLK

® All capacitors are in pF unless otherwise noted.

e All resistors are in ohms.

e [ ]: panel designation.



www.freeservicemanuals.info

LSS-G7 $5-G7

Note: Circled letters ( (&) to (Z) ) are applicable
to European models only.

A B | c |

Note: Circled letters ( (B to (2) ) are applicable to European

models only.
 EXPLODED VIEW S e 5. ELECTRICAL PARTS LIST
4 p— AR © ACCESSORIES & PACKING MATERIALS
4.849.825-00 (C) T
Ergsee, B2 Ref. No. Part No. Description Part No. Description
Sash (A), front grille =] o
COoILS 1-551-268-00 Cord, speaker
Q,/‘éfm’m@ 3-770-079-51 Manual, instruction
= L1 1-459-192-11  (0) 4.7 mH 4-307-858-00 Stopper
< ? . Ka4x12 Serew, hexagon socket; M5 x 30 L2 4 9 9 G =
TR 0 : 1-459-191-11 0.47 mH 4-849-826-00 ® Bag, plastic
ey = ﬁ& L3 1459-163-11 (E) 2.2 mH 4-84982700 ()  Carton
s 0 { %\/‘l 481531600©) L4 1459-175-11 @ 0.27 mH
| e sssers0® 484982800 (F)  Cover, bottom
. 1x 16, wood i .
gﬁ?izz—m@ Uy b wes  Screw, hexagon socket; M5x30 & 1-502539:20@ # 4-849-829-00 ® CllShiO!'l, lower (right)
» 2 i e CAPACITORS 4-849-830-00 (F)  Cushion, lower (left)
e 7 / 2 épﬁf‘ﬁﬁg = 4-849-831-00 @ Cushion, upper
: All capacitors are in uF, 250 V and film unless otherwise noted.
1-502-638-002) Screw, hexagon socket; M4 x 30
PR s o 1123226-11  (F) 33 50V electrolytic
Cc3~5 1-130-092-11 (H) 10
C6 1-130-091-11  (F) 4.7
Aoouwti st s g~y 113009011 (E) 2.2
Koo, level contrl C10 1-130-091-11  (F) 4.7
4849818-00(C)
Ornamental Plate, ievel control
: ci1 1-130-090-11  (E) 2.2
Supplied with Level Control
C12 1-130089-11 (©) 1
T Eox 4837216008
‘f{,,’,'éﬁ""’”“’" @ 1 @ Printed Circuit Board Packing, level control plate
ﬂ‘;ﬁfﬁﬂ@) %ﬂf‘ﬂsgg 3.5x5.5 ;ﬂm a0 aq@ i e Supplied with Level Control P
TA, B3x 14 TA, P3x30 } (
= Emblem, SONY G7
R1 1-217-179-11 8200 W wirewound
1-459-192-11 @
Coil, 4.7mH (L 1)
R SPEAKERS
Level Control
Sy SP1 1-502-638-00 (Z) Woofer
— @ SP2 1-502-639-00 (S) Mid-range
5 WSRO ., o SP3 1-502-640-00 (T) Tweeter
Rag-nut, w/flange; M6
MISCELLANEOUS

Packing, terminal plate

1-511-030-00 (L) Level Control
1-535-132-00 Terminal, push (black)
1-535-133-00 Terminal, push (red)

4.844-825-00 (€)
Plate, terminal

485082600

4.849-836-00
Label, caution Label, specification

TA, RK 3x 14
1.635-133-00 1.535.132-00
Terminal, push (red) Terminal, push (black)
Note:
e Items with no part number and/or no - :
description are not stocked because they Sony COTPOIatIOI\
are seldom required for routine service. ©
® All screws are Phillips (cross recess) type 9 1977
unless otherwise noted. g 958-367-12 : 7G0448-1
=8 Printed in Japan

(—) = slotted head



	p-001
	p-002
	p-003
	p-004



